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Round 12 – Tossups

1) As governor, George Wolf helped pass the Free School Act of 1834 in this U.S. state, and Johan Printz founded its first permanent settlement at Tincicum Island. This state was the location of Fries’ Rebellion, and it also saw the Battle of Bushy Run during Pontiac’s Rebellion. John (*) Dickinson hailed from this state, from which he wrote “Letters from a Farmer in [this state]” During the French and Indian War,  George Washington would surrender Fort Necessity in this state before later losing the Battle of Germantown and encamping at Valley Forge in the American Revolution. For 10 points, name this U.S. state where the Declaration of Independence was signed in Philadelphia.
ANSWER: Pennsylvania
[AS]

2) One novel by this man centers around the effects of a Charles Lindbergh presidential administration in an alternate history. In addition to writing The Plot Against America, this man is the author of a work that tells the story of Seymore “Swede” Levov, a former star athlete whose daughter Mary goes into hiding after setting off a (*) bomb, as well as a novel in which the Classics professor Coleman Silk is accused of racism by two students and is eventually revealed to be black. For 10 points, name this author whose novels An American Pastoral and The Human Stain were narrated by Nathan Zuckerman.
ANSWER: Philip Roth
[JG]

3) This composer wrote Tzigane for the violinist Jelly D’Aranyi.  One of this composer’s works for piano contains the movements “Ondine,” “Le Gibet,” and “Scarbo,” the last of which was written to be more technically difficult than Mily Balakirev’s Islamey.  A ballet by this composer is about a shepard’s love for a woman that is helped by Pan and some nymphs.  This composer of (*) Gaspard de la Nuit and Daphnis and Chloe also wrote an orchestral work which features the same tune repeated by many different soloists over an ostinato snare drum.  For 10 points, name this French impressionist composer of Bolero.
ANSWER: Maurice Ravel
[JL]

4) An structure unique to these organisms, the Spitzenkorper, is an apical body that is important in determining the direction of growth of these organisms.  Some types of these organisms form arbuscules, a type of haustorium.  The only type of these organisms that have flagella are the chytrids.  These organisms can enter a symbiotic relationship with (*) plant roots called mychorrizae.  Members of this kingdom have mycelia, which are made up of filaments called hyphae, and their cell walls are made of chitin.  For 10 points, name this kingdom, which includes yeasts and mushrooms.
ANSWER: fungi
[JL]

5) One episode in this novel concerns the procurement of rivets which are needed by the protagonist. That man tells of receiving a job thanks to the influence of his aunt, and late in this novel that character lies to another character’s “intended” about his last words. One character in this novel has power over Russian traders as well as (*) natives who raid surrounding areas for ivory. This story is told to men aboard the steamship Nellie, and one character’s death is announced by the simple words, “he dead.” Marlow sails up the Congo river in search of Kurtz, whose last words are “The horror! The horror!” in, for 10 points, what novel by Joseph Conrad?
ANSWER: Heart of Darkness
[JG]


6) With  Randall, this man names a rule which deals with fugacity. Along with predicting tetra-atomic oxygen and purifying heavy water, he coined the term “photon,” introduced the concept of activity, and formulated equations for ionic strength.  Another of this man’s contributions to chemistry was the formulation of an (*) acid-base theory which revolves around the exchange of electron pairs.  Figures named after this man are used to classify compounds into categories such as trigonal bipyramidal and tetrahedral.  For 10 points, name this chemist whose namesake dot structures reveal the shape and the number of lone pairs of a compound.
ANSWER: Gilbert Lewis
[AN]

7) One ruler of this empire lost the Battle of the Gates of Trajan, but blinded 99 of every 100 of the losing side’s men after the Battle of Kleidion. Charlemagne rejected the marriage proposal of its Empress Irene. The (*) Sicilian Vespers were won with the help of Michael VIII of this entity’s Palaeologus dynasty. This empire fought a series of wars against the Sassanids, and its general Belisarious brought this empire to the height of its power under Justinian the Great. It survived until its capital was captured by the Ottoman Sultan Mehmed II in 1453. For 10 points, name this eastern descendant of the Roman Empire, named for the Greek city that soon became its capital.  
ANSWER: Byzantine Empire [prompt on Byzantium]
[JG]

8) In this work, Flora jumps to her death to escape the pursuits of Gus. Later in this film, Flora’s brother Ben Cameron saves Elsie from the clutches of Silas Lynch, the servant of her father, Senator Stoneman. The iris shot, color tinting, and cross-cutting were among the technical innovations of this film, and it features the (*)  Siege of Petersburg and Sherman’s March. The NAACP protested the showing of this film because of the use of blackface and heroic portrayal of the Ku Klux Klan. For 10 points, identify this 1915 D.W. Griffith film.
ANSWER: The Birth of a Nation
[AS]

9) Located in the Long Island Sound, an island with this name was once called Little Pea Island. One city with this name is home to the main campus of the University of Missouri, and the Yakima, Spokane, and Snake Rivers are tributaries of a river with this name. That same river also forms the border between (*) Oregon and Washington, and this word names an Ivy League university in New York City. For 10 points, identify this word that names the capital of South Carolina, as well as the federal district that contains the Smithsonian and the White House.
ANSWER: Columbia
[AS]

10) In this novel, one of the few honorable characters constructs napkin rings, dines at the Lion d’Or, and collects local taxes. The main couple of this novel moves to Yonville to prepare for the birth of their child, though they soon give that child over to a wet nurse. After delivering the child to the nurse, the main character is introduced to the law clerk (*) Leon Dupuis. Later, Rodolphe brings his farm hand to the husband of the title character in order for bloodletting to be performed. The protagonist of this work has an affair with Rodolphe which ends with her taking arsenic and dying. For 10 points name this novel about the unfaithful wife of a doctor by Gustave Flaubert.
ANSWER: Madame Bovary
[SS]


11) This god changed Caeneus into a man after raping her.  This god gave Minos the Cretan Bull, but caused Pasiphae to fall in love with it when Minos failed to keep a promise to sacrifice it.  This god became the father of a talking horse, Arion, by mating with Demeter while in the form of a stallion. This god had an affair with (*) Medusa that led to Medusa’s transformation into a monster, and his children included the cyclops Polyphemus and Triton.  This god’s wife was Amphitrite, and he would often shipwreck offenders and cause earthquakes using his trident.  For 10 points, name the Greek god of the seas.
ANSWER: Poseidon [do not accept “Neptune”]
[JL]

12) As a youth, this man went on an Arctic expedition with Skeffington Lutwidge where he was almost killed by a polar bear. He received the dukedom of Bronte from Ferdinand IV of Naples and helped defeat Spain under John Jervis at the Battle of Cape St. Vincent. This commander who had an affair with (*) Lady Emma Hamilton cut off French trade to India at the Battle of the Nile and lost his arm at Santa Cruze de Tenerife. During his greatest battle, he was shot while aboard his flagship Victory, and uttered “Thank God I have done my duty” before dying. For 10 points, name this British admiral who won a key 1805 victory over the French fleet at the Battle of Trafalgar.
ANSWER: Sir Horatio Nelson
[AS]

13) The equation of the standard form of this entity is e to the quantity negative x squared over two all divided by the square root of two pi. If the number of trials is high, the binomial distribution can be approximated by this distribution. As the sample size becomes large, the distribution of a population of means approaches this distribution according to the (*) central limit theorem. If a random variable has this distribution, then approximately 68% of its values fall within one standard deviation of the mean. For 10 points, name this probability distribution often referred to as the bell curve.
ANSWER: normal distribution [or Gaussian distribution]
[RH]

14) One photograph of this painter features a series of cats suspended in the air and a floating chair as this man leaps. A series of classical sculptures are depicted in an arena in this man's The Hallucinogenic Toreador. A collaboration with Luis Bunuel led to this man creating the film An (*) Andalusian Dog. This man depicted elephants being the reflections of swans, and painted a "disintegration" in his most famous work. That work by this painter includes ants on a stopwatch and a series of melting clocks. For 10 points, name this mustachioed, surrealist artist who painted The Persistence of Memory.
ANSWER: Salvador Domenec Felipe Jacinto Dali i Domenech
[GB]

15) One work by this thinker begins by denying that any of wax’s physical properties are essential to it, thereby drawing a distinction between perception and judgment. This thinker also considered and rejected the idea that god might be deceiving us about the nature of the outside world in the (*) “evil demon” argument. This originator and fiercest advocate of mind-body dualism formulated a proof for the existence of god in the third section of his magnum opus. For 10 points, name this French philosopher and mathematician, the author of Discourse on Method and Meditations on First Philosophy.
ANSWER: Rene Descartes 
[KS]

16) Perhaps the most famous type of material used to create these objects is YBCO. Current can jump a Josephson junction linking two of these objects. Based on the presence of a single or double critical magnetic field intensity, they are classified into Type I and Type II. Their formation is based on the condensation of Cooper pairs. They expel their magnetic fields in the Meissner effect, making them perfectly diamagnetic and thus allowing them to (*) levitate magnets. For 10 points, name these materials which have zero electrical resistance below a critical temperature.
ANSWER: superconductors [do not accept or prompt on "conductors" or "semiconductors"]
[AN]


17) A typical service in this religion includes a prayer known as “Priye Gine” and often includes the singing of praises for the spirit of the drums, Hounto. Independent priests who can be hired in this religion are called Bokor. One spirit in this religion has dominion over the night and is named (*) Papa Legba, and he is one of the spirits in this religion with whom its practitioners use to communicate with the supreme deity, Bondye. Those spirits are called Loa and often take the form of Catholic saints and can wear ensembles including top hats. For 10 points, name this syncretic religion whose New Orleans branch sometimes uses namesake “dolls,” which is practiced primarily in Haiti. 
ANSWER: Vodon [or Voodoo or Vodou]

18) In August 2011, this country’s navy shelled the city of Latakia. Wikileaks released intelligence that the United States secretly funneled money to finance activities in this country, including operating its Barada TV station. This country has seen fighting in the city of Dara’a, which a French journalist described as a “Ghetto of Death.” That city is one of several in which this country’s (*)“Free Army,” led by Riad al-Assad, has clashed with government security forces, whose brutal tactics have been criticized by the United States and Arab League. The minority Alawite government of Bashar al-Assad has faced protests and uprisings in, for 10 points, what Middle Eastern country with capital at Damascus. 
ANSWER: Syrian Arab Republic
[JG]

19) One major battle in this conflict saw one side conduct a U-turn led by the flagship Mikasa before crossing the T and being followed by nighttime torpedo boat attacks. That victory for Admiral Togo came over a fleet that had earlier been involved in the Dogger Bank incident.  Beginning with a naval raid on Port (*) Arthur, the winning side went on to capture that city in a siege as well as completely routing Alexei Kuropatkin’s army at the Battle of Mukden. The Battle of Tsuhima Strait occurred in, for 10 points, what conflict ended by the Teddy Roosevelt-mediated Treaty of Portsmouth, a war that led to the Revolution of 1905 in the losing country.
ANSWER: Russo-Japanese War
[JG]

20) This work’s speaker remarks: “We are no other than a moving row/Of Magic Shadow-shapes that come and go.” One section of this work remarks that “the moving finger writes; and having writ,/moves on,” while another section states that “The Wine of Life keeps oozing drop my drop,/The Leaves of Life keep falling one by one.” Utilizing its namesake (*) structure of four iambic pentameter lines formed into a quatrain, this work was translated to English by Edward FitzGerald. This work includes the lines “A Book of Verses underneath the Bough, A Jug of Wine, a Loaf of Bread--and Thou.” For 10 points, name this collection of poetry by Omar Khayyam. 
ANSWER: The Rubaiyat of Omar Khayyam
[JG]

TB) The sinc (SINK) function is defined as this function of x divided by x. This function is equal to one over two i multiplied by the quantity e to the i x minus e to the negative i x. It is the imaginary part of Euler's formula. The law of this function can be used to find the remaining sides of a triangle when two angles and a side are known. This (*) odd function is periodic over a period of two pi and is equal to zero at zero. It lags the cosine function by pi over two radians. For 10 points, name this function that, for a right triangle, is commonly defined as opposite over hypotenuse.
ANSWER: sine function 
[CV]
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Round 12 – Bonuses

1) This poem begins, “‘Twas brillig and the slthy toves/Did gyre and gimble in the wade.” For 10 points each:
[10] Identify this nonsense poem about a title dragon-like creature, known for the introduction of words like mimsy and chortle. In it, the creature is slain by the wielder of the vorpal sword, who waits by the Tumtum tree.
ANSWER: “Jabberwocky”
[10] “Jabberwocky” was written by this English writer and logician. He wrote of the March Hare and the Mad Hatter in Alice’s Adventures in Wonderland, and scribed its sequel Through the Looking-Glass.
ANWER: Lewis Carroll (or Charles Lutwidge Dodgson)
[10] In this other Carroll poem, the sun is seen to be out during the middle of the night. It centers on the title characters luring four oysters onto a beach, where they are deceived and ultimately eaten.
ANSWER: “The Walrus and the Carpenter”
[AS]

2) The first allotrope discovered was the triatomic form of this element, which is called ozone. For 10 points each:
[10] Name this nonmetallic element with atomic number 8.
ANSWER: oxygen
[10] This 18th century English scientist, whose earlier works include The Rudiments of English Grammar, discovered oxygen contemporaneously with Lavoisier and Scheele.
ANSWER: Joseph Priestley
[10] Priestley, unfortunately, was an adherent to this discredited scientific theory, claiming that oxygenated air was actually air with this fire-related substance removed.
ANSWER: phlogiston theory
[BR]

3) This passage metaphorically refers to its audience as the "salt of the earth" and the "light of the world." For 10 points each:
[10] Name this address given by Jesus in Matthew 5 through 7, which also gives the parables of the wise builder and the foolish builder. 
ANSWER: Sermon on the Mount
[10] The Sermon on the Mount contains this series of blessings, such as its blessing of the meek "for they shall inherit the Earth."
ANSWER: Beatitudes
[10] Near the close of the Sermon on the Mount, Jesus says "whosoever smiteth thee on thy right cheek, turn to him the other also," as a direct rebuke of this statement typically used to encapsulate ancient law codes.
ANSWER: "an eye for an eye, and a tooth for a tooth" [accept either underlined portion]

4) Works by this author set in the fictional city of Castle Rock, Maine include The Dead Zone and Cujo, and he published The Running Man and Thinner under the pen name of Richard Bachman. For 10 points each:
[10] Name this prolific horror and thriller author of Carrie, the Dark Tower series, and The Stand.
ANSWER: Stephen Edwin King
[10] In the 1994 TV adaptation of The Stand, the deaf-mute Nick Andros was portrayed by this actor who later played Sam Seaborn on The West Wing. He now plays Indiana State Auditor Chris Traeger on Parks & Recreation.
ANSWER: Robert “Rob” Lowe
[10] This actor filled the role of protagonist Stu Redman in The Stand shortly before becoming the legless Lieutenant Dan in Forrest Gump. He currently heads the cast of CSI:NY as Detective Mac Taylor.
ANSWER: Gary Alan Sinise
[BR]


5) This literary form grew out of the opening stanza of the collaborative renga form. For 10 points each:
[10] Name this form of poetry that typically includes a "season word" among its 17 syllables arranged in three lines.
ANSWER: haiku no renga
[10] This author of the travelogue The Narrow Road to the Deep North is considered the "master" of haiku, and compared pairs of poems in The Seashell Game. 
ANSWER: Matsuo Basho (or Matsuo Basho, or Matsuo Munefusa)
[10] The most famous haiku by Basho is about the sound made by one of these animals jumping into a pond. In Christina Rosetti poem about this animal’s “Fate,” one of these “hopped along the imperial highway.”
ANSWER: frog 
[GB]

6) Identify the following European micro-states, for 10 points each.
[10] Nestled between Switzerland and Austria, this nation is one of two doubly-landlocked countries on Earth. The final vestige of the Holy Roman Empire, this principality’s western border is the Rhine, and its capital is at Vaduz.
ANSWER: Principality of Liechtenstein
[10] This other microstate sits in the Apennine Mountains, surrounded by Italy. Regarded by some as the world’s oldest sovereign nation, it also has the oldest active constitution, dating to 1600.
ANSWER: Republic of San Marino
[10] This other Italian enclave can be found entirely within the city of Rome. Established by the Lateran Treaty in 1929, this state, also called the Holy See, is the seat of the Papacy and home to St. Peter’s Basilica.
ANSWER: Vatican City
[AS]

7) Arrays are addressed using these variables' namesake arithmetic. For 10 points each:
[10] Identify these variables that point to an address in memory.
ANSWER: pointers
[10] Pointers are dereferenced using this operator in C, where it is also used when declaring pointers.
ANSWER: asterisk [or star; or indirection operator]
[10] If malloc cannot allocate memory, it will return a pointer of this type. Strings in C are terminated by this type of character, and in statistics, it denotes the hypothesis that can either be rejected or not rejected, but never proven.
ANSWER: null
[CV]

8) Concessions made in this treaty led to the South Sea Bubble. For 10 points each:
[10] Name this treaty complemented by the Treaty of Rastatt that ceded the Spanish Netherlands to Austria and Gibraltar to the United Kingdom, ending a war beginning with the death of Charles II.
ANSWER: Treaty of Utrecht
[10] The Treaty of Utrecht ended a conflict over this country’s  succession, during which Allied troops landed at Valencia. Philip V’s Nueva Planta decrees soon promoted a Castilian dialect and centralized this country at Madrid. 
ANSWER: War of Spanish Succession [accept Spain]
[10] During the War of Spanish Succession, Eugene of Savoy won at Oudenarde and here. The Duke of Marlborough’s rapid 250 mile march helped Eugene surprise Franco-Bavarians under Duc de Tallard at this battle.   
ANSWER: Battle of Blenheim [or Second Battle of Höchstädt]
[JG]


9) Alexander Berkman and Emma Goldman were deported as a result of this series of actions. For 10 points each:
[10] Identify this string of operations against leftists and anarchists named after Woodrow Wilson’s Attorney General. They would partially be carried out by J. Edgar Hoover and his newly founded Bureau of Investigation.
ANSWER: Palmer raids
[10] The Palmer raids occurred during the first of these periods of fierce Ant-Communist sentiment. The first of these would also be associated with the Boston Police Strike and the arrest of Sacco and Vanzetti.
ANSWER: Red Scare
[10] The second Red Scare would be exploited by this Wisconsin senator, who alleged Communist infiltration in the government. He would be censured after a series of famous hearings for leveling attacks against the U.S. Army.
ANSWER: Joseph McCarthy
[AS]

10) Name some people who painted crucifixion scenes, for 10 points each:
[10] This Belorussian artist’s White Crucifixion depicts a burning synagogue to the right of the crucified Christ, and this artist also included a Sheep and some upside-down houses in his I and the Village.
ANSWER: Marc Chagall
[10] This Flemish artist created a triptych of the Descent from the Cross, and he is also known for works such as Hippopotamus Hunt and for painting many fleshy women. 
ANSWER: Peter Paul Reubens
[10] This artist included a Crucifixion scene in the first view of his Isenheim Alterpiece, which also includes a Resurrection scene in which Christ is illuminated and floats over some soldiers.
ANSWER: Matthias Grunewald
[JG]

11) This man was abandoned by his parents after his birth, but was then raised by Polybus and Merope.  For 10 points each:
[10] Name this figure from Greek myth, who defeated the Sphinx and became King of Thebes.  Unfortunately, he ended up marrying his own mother.
ANSWER: Oedipus
[10] Name Oedipus’ wife and mother.  She was originally married to Laius and killed herself when she discovered she had been committing incest.
ANSWER: Jocasta
[10] One of Oedipus and Jocasta’s children was this man, who was supposed to rule with his brother Eteocles but ended up leading the Seven Against Thebes.  Antigone was sentenced to death for trying to bury him.
ANSWER: Polynices
[JL]

12) Their first king was Labarna I. For 10 points each:
[10] Name this ancient kingdom from Asia Minor with capital at Hattusa that often clashed with Egypt.
ANSWER: The Hittites
[10] The most famous Hittite-Egyptian clash was this 1274 BCE battle near the Orontes River. At this battle, the largest chariot battle of all time, Egyptians narrowly escaped encirclement by Hittites led by Muwatalli II.
ANSWER: Battle of Kadesh
[10] At Kadesh, the Egyptians were led by this son of Seti I who, not so modestly, had giant statues of himself built at Abu Simbel.
ANSWER: Ramses II
[JG]


13) Organisms with one of these are called monotrichous, while those with multiple ones are called peritrichous and can undergo tumbling.  For 10 points each:
[10] Name these structures, which allow a cell to move.  They can move in a whip-like or rotational manner.
ANSWER: flagella [or flagellum]
[10] Like cilia, flagella are made of these structures.  They help give structure to a cell and are organized through MTOCs and centrioles.
ANSWER: microtubules
[10] The energy that is used to move flagella come from a gradient of this ion.  A pump that causes such a gradient is also found in the inner membrane of the mitochondria.
ANSWER: H+ [or hydrogen ion; accept proton]
[JL]

14) One character in this novel frequently cheats on his wife Tereza. For 10 points each:
[10] Name this novel in which the surgeon Tomas and that wife move to Zurich after the Soviets invade his country. Returning to that country, he writes a letter in which he compares the Communists to Oedipus.
ANSWER: The Unbearable Lightness of Being
[10] The Unbearable Lightness of Being is a novel by this author of The Book of Laughter and Forgetting who wrote about Ludvik Jahn, who is imprisoned for writing that “Optimism is the opium of the people!” in The Joke.
ANSWER: Milan Kundera
[10] Milan Kundera writes in this language, which was also used by the author of The Garden Party, Vaclav Havel, who also spoke this language as the first post-Communist President of a country with capital at Prague.
ANSWER: Czech [ prompt on “Bohemian;” do not accept “Slovak”]
[JG]

15) Answer the following about Britain in ancient times, for 10 points each:
[10] The ruins of this prehistoric structure can be found in Wilshire. Most likely built between 2500 and 1500 BCE, this circular arrangement of monoliths is thought to have been used for astronomical and spiritual purposes.
ANSWER: Stonehenge
[10] More than a millennium after the completion of Stonehenge, an invasion into Britain was ordered by this Roman Emperor in 43 CE. This successor to Caligula would name his son Britannicus in honor of the conquest.
ANSWER: Tiberius Claudius Nero Germanicus
[10] Nearly a century after Claudius, this structure was erected to defend the boundary of Roman Britain. Built between the Tyne River and Solway Firth, a similar structure was later constructed further north by Antoninus Pius.
ANSWER: Hadrian’s Wall 
[AS]

16) Figure skaters can increase this quantity by spreading their arms before starting to spin. For 10 points each:
[10] Identify this quantity, symbolized I, that is the rotational analog of mass.
ANSWER: moment of inertia
[10] This quantity can be found by multiplying moment of inertia with angular velocity. Its time derivative is torque.
ANSWER: angular momentum [prompt on momentum; do not accept "linear momentum"]
[10] If the moment of inertia for an object about an axis through its center of mass is known, one can find the moment of inertia for any axis with this relationship to the original by adding mass times distance squared.
ANSWER: parallel
[AN]


17) Because one piece of this series did not depict the central object "in its natural proportions" it was subjected to customs taxes upon entering the United States. For 10 points each:
[10] Name this controversial series of abstract marble and bronze sculptures in which the title animal has been compressed and elongated.
ANSWER: Bird in Space
[10] This sculptor of Princess X and a golden Sleeping Muse created the Bird in Space sculptures.
ANSWER: Constantin Brancusi
[10] Constantin Brancusi is a sculptor from this eastern European nation, and created the memorials Table of Silence and Endless Column for World War I dead in this nation's city of Targu Jiu.
ANSWER: Romania
[GB]

18) This thinker posited that supply and demand were no longer the key operators of modern capitalism in The New Industrialist State. In another work, he created the term “conventional wisdom.” For 10 points each,
[10] Name this public intellectual who argued that demand was created external to the consumer and that classical liberalism was only applicable in impoverished societies in his The Affluent Society.
ANSWER: John Kenneth Galbraith
[10] This Nobel Prize-winning Princeton economist criticized Galbraith as lacking in academic rigor and called him a “media personality” in his book Peddling Prosperity. He writes an op-ed column for the New York Times.
ANSWER:  Paul Krugman
[10] Galbraith criticized this standard economic measurement for omitting social aspects of a society’s wellbeing. This term refers to the value of all final goods and services produced inside a country’s borders. 
ANSWER: Gross Domestic Product
[MJB]

19) The central event of this poem ends in front of a house that is but "a swelling of the ground." For 10 points each:
[10] Name this poem in which the title personified entity takes the speaker on a carriage ride with Immortality. 
ANSWER: "Because I Could Not Stop for Death" 
[10] This reclusive "Belle of Amherst" wrote that she was "nobody" and asked, "are you nobody too?" She wrote "Because I Could Not Stop for Death" and used a lot of dashes.  
ANSWER: Emily Dickinson 
[10] In this Dickinson poem, "The stillness round my form was like the stillness in the air" during the title event in which the speaker "could not see to see."
ANSWER: "I heard a fly buzz when I died" 
[GB]

20) This composer depicted a biblical story in his opera Samson and Delilah, and this composer was the first major composer to write scores for films. For 10 pointe each: 
[10] Name this French composer that used a xylophone to mimic the rattling of bones in his Danse macabre.
ANSWER: Charles-Camille Saint-Saens
[10] Camille Saint-Saens composed this series of musical sketches. "Fossils" borrows from his Danse Macabre, and this work also includes the movements “Aquarium” and “The Swan.”
ANSWER: Carnival of the Animals [or Le carnaval des animaux]
[10] Saint-Saens in his third symphony used this instrument for two movements, leading to it being commonly titled for this instrument. This instrument was the primary instrument in the compositions of Dieterich Buxtehude.
ANSWER: pipe organ
[GB]


TB) The parallel plate type of this device is the most common. For 10 points each:
[10] Identify this circuit element, usually symbolized by two parallel lines in circuit diagrams, that stores energy in an electric field.
ANSWER: capacitor
[10] A capacitor's ability to store energy is greatly increased by introducing one of these materials into the space between its electrodes. The namesake constant of these materials is more commonly called relative permittivity.
ANSWER: dielectric
[10] To find the current through a capacitor as a function of time, one must perform this operation on the voltage function and multiply it by the capacitance.
ANSWER: time derivative [or take the derivative with respect to time; accept clear equivalents]
[MG]
